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ANSYS 12.0.1
Jul 22 23013
22:36:03
PLOT No.
Nodal solution
SUB = 1
Time = 1
AZ
RSYS = 0
SMN = -0.191E-03
             -0.134E-03
             -0.185E-03
             -0.173E-03
             -0.161E-03
             -0.149E-03
             -0.137E-03
             -0.125E-03
             -0.113E-03
             -0.101E-03
             -0.887E-03
             -0.767E-03
             -0.646E-03
             -0.526E-03
             -0.405E-03
             -0.185E-03
             -0.164E-03
             -0.436E-03
              0.769E-03
              0.197E-03
              0.318E-03
              0.438E-03
              0.559E-03
              0.680E-03
              0.800E-03
              0.921E-03
              0.104E-03
              0.116E-03
              0.128E-03



Nodal solution
SUB  = 1
Time = 1
BSUM    (Avg.)
RSYS = 0
SMN = 0.153E-05
SMX = 1.219

Jul 22 2013
22:37:04
Plot No.

0.153E-05             0.270925                0.541848               0.812771                 1.084
0.135463              0.406386                0.677309               0.948232                 1.219

Magnetic analysis

X

Y



0
0

100

200

300

400

500

600

0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8

z(mm)

F z
 (N

)

L/l = 1.5
L/l = 1.25
L/l = 1
L/l = 0.75
L/l = 0.5

L = 1 = 6
L = 1 = 9
L = 1 = 12
L = 1 = 15
L = 1 = 18

0
0

100

200

300

400

500

600

0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8

z(mm)

F z
 (N

)

H/h = 1.5
H/h = 1.25
H/h = 1.0
H/h = 0.75
H/h = 0.5

0
0

100

200

300

400

500

600

0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8
z(mm)

F z
 (N

)

L = 1 = 6
L = 1 = 9
L = 1 = 12
L = 1 = 15
L = 1 = 18

0
0

100

200

300

400

500

600

0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8

z(mm)

0
0

100

200

300

400

500

600

0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8

z(mm)

F z
 (N

)

H = h = 6
H = h = 9
H = h = 12
H = h = 15
H = h = 18



0

100

200

300

400

500

600

700
a = 6
a = 9
a = 12
a = 15
a = 18

0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8
z(mm)

N
 (F

)

0

100

200

300

400

500

600

700

800

0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0

z (mm)

g = 1
g = 2
g = 3
g = 4

N
 (F

)




	JAS.pdf
	Page 1


